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B. Com. (Part 111) EXAMINATION, 2021
(Optional Group A—Finance Area)
(Group—IIl)

Paper First
FINANCIAL MANAGEMENT
Time : Three Hours
Maximum Marks : 75
Minimum Pass Marks : 25
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Attempt all the five questions. One question from each
Unit is compulsory. All questions carry equal marks.

ShIe—1
(UNIT—1)
1. fofRm ydg 1 gRRarer Y dor g6 SRl @ qagy |
Define financial management and discuss its functions.
AT
(Or)
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What is financial planning ? What are various factors that

a financial plan consider ?
THIE—2
(UNIT—2)
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I |

Define capital budgeting and discuss its scope and

importance.
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(Or)
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A project cost ¥ 1,00,000 and has scrap value of ¥ 20,000
its stream of income before depreciation and taxes during
the first year through five year is ¥ 20,000, ¥ 24,000,
¥ 28,000, ¥ 32,000 and ¥ 40,000 Assume a 50% tax rate
and depreciation on straight line basis calculate

accounting rate for the project.
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TPHIE—3

(UNIT—3)
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Define cost of capital. What is the cost of retained ? How
is the cost of new equity issues determined ?
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(Or)
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X Ltd. has estimated that for a new product its break-even
point is 2,000 units. If the item is sold for ¥ 14 per unit the
cost accounting department has currently identified
variable cost of ¥ 9 per unit. Calculate operating leverage
at sales volume of 2,500 units and 3000 units. What do
you infer from the operating leverage at the sales volume
of 2,500 units and 3,000 units and their difference if any ?

FHTE—4
(UNIT—4)
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What are the different theories of capital structure ?
Explain in brief. Also explain their determinates.
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Golden View Ltd. has a cast of equity capital of 12% the
current market value of the firm (v) is ¥ 10,00,000 (@ ¥
10 per share). Assume values for new investment (I)
earning (E) and dividends (D) at the end of 1st year as ¥
3,40,000, ¥ 2,75,000 and ¥ 2.50 per share respectively

show under M. M. assumptions the payment of D does
not affect the value of the firm.
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(UNIT—5)
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Explain the concept of Working capital and discuss the
need for managing it.
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Home Ltd. manufacture only one product ‘A’ The single
raw material used in making ‘A’ is “Y’. For each unit of
‘A’ manufactured 12 units of ‘Y’ are required. Assuming
that the company manufactures 15000 units per annum
that the demand for ‘A’ is perfectly steady throughout the
year that it cost ¥ 200 each time order is placed for ‘Y’
and that earrying cost is ¥ 8 per unit of ‘Y’ per year. You
are required to answer the following :

(@) Determine the economic order quantity of ‘Y.
(b) What is total cost of inventory for the quantity ?

(¢) How many time per year would inventory be
ordered ?
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